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import UIKit
class Coursef{
var id: Int
var title: String
init(id: Int, title: String){
B - i
B - title
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. 1mport UIKit

| 7 class Course{
3 var 1d: Int

var title: String
init(id: Int, title:

String){
= id
= title
s
s

0 var course = Course(_) Course @
11 print("course "+String(course.id)+" 1is "course... @

"+course.title)
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1 import UIKit

72 class Mobile{

3 var make: String

A var model: String

init (I |
6 self.make = make

self.model = model

by
10 let myMobile = Mobile M (make: "Taiwan", Mobile =
model: "5s")
11 print(myMobile.make) "Taiwan\n" @
&
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Taiwan
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1 import UIKit

7 class Mobile{

3 var make: String

A var model: String

5 init( A
6 self.make = make

self.model = model

}

10 let myMobile = Mobile. (make: "Taiwan",

model: "5s")

12 print(mobile.model)

Mobile

Mobile
IISS\n"
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import UIKit
class Mobile{
var make: String
var model: String
init(make: String, model: String){
self.make = make
self.model = model

¥
ks
let myMobile = Mobile.init(make: "Taiwan", model: "5s") Mobile
var | Mobile
12 B = "8s" Mobile
print(mobile.model) "8s\n"
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import UIKit
struct Mobile{
var make: String
var model: String
init(make: String, model: String){
self.make = make
self.model = model

¥

¥

10 var myMobile = Mobile.init(make: "Taiwan", model: "5s") Mobile
var Mobile
myMobile.model = "8s" Mobile
print(mobile.model) "Bs\n"
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import UIKit
class Straight{
var three: Int
init(three: Int){
self.three = three
b
¥

class Fullhouse: -{

var pair: Int
init(pair: Int, three: Int){
self.pair = pair
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import UIKit
class Straight{
var three: Int
init(three: Int){
self.three = three

¥
¥
class Fullhouse: {
var pair: Int
init(pair: Int, three: Int){
self.palir = pailr
super.
h
¥

let fullhouse Fullhouse(pair:2, -)
16 print(fullhouse.three|)
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Fullhouse
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class Robot{
var withArm = true
var withLeg: Bool
init(withLeg: Bool){

¥
¥
let robot = Robot(_) Robot @&
9 print(robot.withArm, robot.withLeg) "true tru... @
O,
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true true
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class Robot{
var withArm: Bool

var withLeg: [N
i

self.withArm = withArm
}

init(withArm: Bool, withLeg: Bool){
self.withArm = withArm
self.withLeg = withLeg

¥

let robotl = Robot(withArm: true)
print(robotl.withArm)

let robot2 = Robot(withArm: true, withLeg: false)

15 print (I
O,
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true
false

Robot

“true\n"

Robot

‘false\n"
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class Robot{
var withArm = true

¥
class DogRobot: Robot{
override init(){

super . INNEGEGN
B - false

8 H
ks
let dogRobot = DogRobot() DogRobot
print(dogRobot.withArm) "false\n"
O,
= O

false
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class Ant{
var position = (x:0, y:0)
3 func| move(){
self.position.x += 1

}
}

let ant = Ant
) Ant

print(ant.position) "(x:1,y..

®
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| class Ant{
2 var position = (x:0, y:0)
: func move(){
self.position.x += 1
s

¥
class SupAnt: Ant{

I move ()4
I - 1°

10 }
1}

12 let ant = SupAnt()
13 ant.move()

14 print(ant.position)
[~] D/\

(x: 10, y: 0)
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import UIKit
enum Activation{
case linear
case threshold
case tanh
case sigmoid
¥
class Neuron{
var weight: [Double]

}

var activation: Activation

init (N |

self.weight = weight

activation
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import UIKit
enum Activation{
case linear
case threshold
case tanh
case sigmoid
¥
class Neuron{
var weight: [Double]
var activation: Activation

init( ) {
self.weight = weight
= activation
¥
¥
let neuron = Neuron(weight: [1, 2], activation: Neuron @
Ly
17 print(neuron.weight) "[1.0,2.. @
= O
[1.0, 2.0]

tanh



